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I x mwn: responsibility of Y87’ towards nMnv nnNa M2
a  Care after birth: np1 nnna (ovines)- 30 days; nox nnna (bovines) — 50 days
1 Source: v.2 compares child (30 days) with 1x¢ and 0>1°2 (50 days from ™ 1pW) to MW
(a) Challenge: why not compare R to D271 etc.?
(b) Answer: follow sequence of text
(i) Challenge: 18¥ is juxtaposed to TynT RSN
(ii) Rather (837): nwyn (v. 2) adds extra n»wy to M"Y
1. Challenge: if so, should be 60 days (double n»wy)
2 Rather: pnan were given mandate to determine duration (support from xn»11)
ii ~ 2o» /7 Ap1 N2 - 3 months
1 Reason: takes more care, as its teeth are thin (needs help growing at first stages)
b  If: the 103 asked him for the (on) 7192 during this period, may not give it to him
i Limitation: if it is a mn Y1 and he wants to eat it now, may give it to him at any time
ii ~ And: if it was during n»an jnr and he requested the pn in order to offer it — may give it to him
1 Reason (for not giving to j3 early): it looks like the 112 is helping him with his work (m273n n’aa y»on)
(a) Background xs177x ©»ayy 0% 0030 who work in donor’s agriculture may not be paid with n"n
(i) If: they are paid with n"vn, vv. 3-4 apply (note: v. 4 adds component of nn’n)
1. Note: n'nan would have fined owners to pay a completely new nmAn
a. Reason: for not doing so — they may inadvertently take 2vnn Yy 71090 1n
(b) Continuation of ¥r»>72: all nyIn have nRin N2 to owners (they may choose to whom to give)
(i) Example: if A pays B to give his mmAn to A’s grandson who is a 103 — permissible
1. But: not if A is a jn2 himself
2. Note: they only allowed this with nmn, which has »"m71p and can’t be redeemed — no one will
err and think that A’s payment generates %%n
a.  But: nnna mann, e.g. which have 741p - he may think the payment “redeems” it and treat
it as 19 — didn’t allow
2 Tangent: 9" nmn (which is practiced, 13270, in neighboring lands, e.g. Egypt)
(a) A27 no limitation of MmN n*aa y»on 13 with YN nmn
(i) Example: xnn 171 would give his mmn to his (jn3) servant
(b) Sx1pw: 9" nmn is nullified 2172 (not 1/100) and may be nullified nnnab
(i) Example: ma1 (a 103) would be Yvan his own nman (in Y31) and eat mixture when he was xnv
(ii) Example: >*v12 X0 17 would take his 1 nmn (in %11) and pour 2 parts P and 1 part nmn into a
glass (210 a1) to drink, then continue pouring 1/1 — so always a P>n a1
() Sxww 9" n nmn may be taken at end (leave some over after eating and separate then)
(d) Sxmww:9"n nman may be eaten by n'xnv, unless the NkMY emanates from body (e.g. ar)
(i) And: even then, only n%"x is forbidden — contact is always permitted
(if) Application (N227): N7 may separate non and give to jop 113 (Who hasn’t yet had »p); if no jop
around, she may use a board to put it in oven, burn it up — then separate another n%n (so as not to
forget n%n NN and it being given to 0’113) and give to adult 172 (isn't “really” non)
(iii) Story: woman asked whether nn ®nv may be Y210 and eat 9" n nmn immediately
1. Answer: per 11 — permitted
2. Challenge: qutoe from nww 19 — (only) Y7 8nv may do so
3. Rejection: navn follows 11
¢ Duration: M1 is eaten during its first year, per v. 1
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II 2 mwn: If: it developed a mn during first 12 months — still have until end of year
a If: it developed o after 12 months, have another 30 days
i Implication: m22's years are subjective, not standardized to objective calendar
1 Source: dispute between nTin’ 17's version of 11 and 27’s school (21 72)
(a) A7 27 17 inferred from v. 1 (a year that “goes into” another year — 7132 mv)
(b) 2737 that verse teaches that 1131 is eaten for 2 days (over “2 years” — last day of 1 year; 1st day of next)
(i) 27’z infers “individualized years” from other n>w1p
1. Source: for other WP — v. 5 (1MW)
(if) 27 infers 2-days rule from v. 6 — 1191 is treated like p1wy NN (of DN5W — 2 days)
1. 37 »2: that could have referred to w"n of nmin (1 day)
2. 27 adds 19 i — get “extra time” (to maximum)
a. 27’z i may be alluding to n”ya, which is also given to 113
b. 27 thatis inferred from nawa (plural — which includes n”ya)
i. 373 thatis just general collective — that m 132 belong to 0’113
ii  Question: is meaning of ruling that in all cases, he gets a year + 30 days
1 Or:is it two cases — if found during year, he gets until end of year; if after — only 30 more days?
2 Proposed solution: if found during year, keep until end of 12 months; if after, must give it up immediately
(a) But: in order to ensure that 0’2 get it, allowed 30 days (i.e. two different cases)
3 Still unclear: are the 30 days within the year or afterwards?
(a) solution: if found with 15 days left in the year, he gets 15 days into the year
(i) in other words: he gets 30 days from finding b, if it goes past 12 months
(b) comment: this supports 8", who ruled that he gets 30 days from moment pn is found
(i) alternate version: X" inferred from v. 1 that he gets 30 days (minimum time period that can be con-
sidered a “year”) after the year
1. challenge: from ruling about 15+15
2. rather: 27 version is refuted
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